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PART A: Grammar and Vocabulary rheh Ol ek
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on | ——|
your answer sheet. CAY

76- Many environmental researchers are of the opinion that what ... certainly improve the
air quality in big cities.

1) had done can 2) is done can
3) can be done 4) it had done

77- Scientists believe that there would be no real pollution if energy ... by hydroelectric, geothermal, and
solar systems.

1) produced 2) we produced
3) produce 4) were produced
78- 1 don’t think the little boy that gave me this beautiful toy car is your friend, ...?
1) did he 2) didn’t he 3)is he 4) isn’t he

79- After graduating from The Glasgow School of Art, John painted a few portraits of people ... years ago
as a child.

1) whom he had met 2) that he had met them
3) who they had met him 4) which he had met

80- When I’m faced with a decision that puts my ethics on the line, I think about what similar ... in the
past have taught me.

1) suggestions 2) situations
3) recommendations 4) obligations

81- We are not allowed to ... success only in terms of educational achievements, and many other factors
must be taken into account to consider someone successful.

1) belong 2) prevent
3) decrease 4) measure
82- Head injuries require ... medical attention, as they can result in conditions which endanger your life.
1) immediate 2) available
3) domestic 4) ordinary

83- Solar panels only work when the sun is shining, which means that when it is cloudy or nighttime, they
do not ... electricity.

1) consume 2) convert
3) absorb 4) generate

84- The young manager was the one who had made the final decision, so it was not surprising that
everybody held him ... for the failure of the plan.

1) familiar 2) responsible
3) equivalent 4) elementary

85- According to a recent study, the quality and price of high-speed internet access still varies ... from
country to country.

1) widely 2) especially
3) finally 4) gradually



G,
%’J%f' 1o eSS0

86- Our tour guide, who knew a great deal about ... from the area, helped us to buy some beautiful
presents for our friends.

1) hobbies 2) destinations
3) souvenirs 4) customs

87- In this city, most of the successful businesses and startups have more than one founder. That’s because
they very well know that ... .

1) actions speak louder than words 2) too many cooks spoil the broth

3) practice makes perfect 4) two heads are better than one
PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

Ordinary people have always been attracted to the world of movies and movie stars. One way to get ...(88)...
this world is to become a movie extra. Extras are the people seated at tables in a restaurant while the two
main actors are in conversation. Extras don’t normally speak any ...(89)..., but they help make the scenes
look real. Being a movie extra might seem like a lot of fun. You get to see what life is like behind the scenes.
But don’t forget ...(90)... really a job, and it’s ...(91)... about doing nothing. First-time extras are often
shocked to learn how slow the process of movie making is. In a finished movie, the action may move
quickly. But it can sometimes take a whole day to shoot a scene that appears for just a few minutes on the
screen. Despite the long hours and low pay, many people still ...(92)... the job.

88- 1) closer than 2) closer to 3) as close as 4) the closest of
89- 1) lines 2) symbols 3) tongues 4) issues
90- 1) to be an extra that has been 2) about being an extra is

3) that being an extra is 4) that being an extra have been
91- 1) accidentally 2) fluently 3) mostly 4) constantly
92- 1) give up 2) check in 3) provide with 4) apply for

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark
the correct choice on your answer sheet.

PASSAGE 1:

The Colosseum in Rome, Italy, is one of the most famous buildings in the world. This 2000-year-old
outdoor stadium has 50000 seats and has been used for many kinds of events. The Colosseum was mostly
used for gladiator games. Professional fighters would entertain audiences by fighting other gladiators.
People loved watching these very bloody and deadly fights. Getting a seat to a gladiator game was often
difficult, similar to popular sports games today.

Animal hunts were also held at the Colosseum. Painters and builders would create a large forest, which
would even have real trees and plants. Exotic animals, such as hippos, giraffes, and tigers, were brought in
from other countries. Contests would be held to see who could hunt and Kkill the most animals. These hunts
were usually very large. One animal hunt could have 1100 animals and 10000 gladiators and last for 123
days.

The Colosseum has gone through earthquakes, fires, and other disasters. So, large events no longer take place
inside. However, the Colosseum is still used for smaller performances and shows. And many large concerts
are often held just outside of the Colosseum.

93- What is the best title for the passage?
1) Events Held at the Colosseum
2) Gladiator Fights in Rome
3) Secrets of the Colosseum
4) Famous Buildings in the World
94- Why has the author mentioned “popular sports games today” in paragraph 1?
1) To show how popular gladiator games were
2) To explain why becoming a fighter is difficult
3) To point out that sports games today are violent

4) To suggest that tickets to sports games are expensive
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95- The phrase “take place” in paragraph 3 is closest in meaning to ... .

1) destroy 2) attract

3) happen 4) entertain
96- It can be inferred from the passage that gladiators ... .

1) didn’t really fight each other

2) would sometimes attack people in the audience

3) were often seriously hurt

4) were not allowed to kill other gladiators during a game
PASSAGE 2:
It is generally believed that white chocolate isn’t really chocolate because it doesn’t contain chocolate solids.
But if chocolate could talk, it’d tell you just the opposite. According to the technical definition, white
chocolate most certainly qualifies.

What is chocolate, technically speaking? It’s defined as a food made from the roasted and ground pods of
the cacao tree. After harvesting, the pods are cracked open, and the beans are removed and left out for
several days to ferment naturally. Next, they are dried and roasted, and their shells are removed. What’s left
is known as a cacao nib—the base element of every chocolate.

The cacao nibs are ground into a thick, oily paste called chocolate liquor, which is then separated into two
different products: cocoa solids and cocoa butter. Cocoa solids are brown, flavorful, and used to make dark
and milk chocolate. Cocoa butter is pure fat and can be used to make white chocolate. Even though they are
made from different components, brown chocolate and white chocolate both come from the same cacao pod.

But just because white chocolate is technically chocolate doesn’t mean everyone recognizes it as such.
Outside of its culinary definition, for reasons of taxation and regulation, chocolate also has legal definitions,
which are different in every country. In the European Union, chocolate may not have any less than 35
percent dry cocoa solids. In America, chocolate that contains cocoa solids is defined as sweet chocolate,
whereas white chocolate has its own distinct definition.

97- Which of the following best expresses the function of the underlined sentence in paragraph 1?
1) It illustrates why people do not recognize white chocolate as a chocolate type at all.
2) It explains an unreal situation in which the general belief stated in the previous sentence is proven to be true.
3) It describes an imaginary situation in order to reject the common belief mentioned earlier in the same paragraph.
4) It contradicts the central idea of the previous sentence by providing scientific reasons.
98- According to the passage, it is TRUE that ... .
1) there is no one arguing against the belief that white chocolate is not actually chocolate
2) sweet chocolate and white chocolate have exactly the same legal definition in the United States
3) despite having the same components, brown chocolate and white chocolate come from different cacao pods
4) following the harvest, cacao beans are pulled out of the pods, fermented, and dried
99- What does the word “such” in paragraph 4 refer to?
1) cacao nibs 2) chocolate 3) white chocolate 4) sweet chocolate
100-The author’s tone in this passage could best be described as ... .

1) concerned 2) educational 3) confused 4) emotional
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Part A: Grammar

Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

101-Under no circumstances ... the front door unlocked when you want to go to work early in the

morning.
1) should you leave 2) you should leave
3) should be left 4) you should be left
102-The little girl eagerly opened her money box to see ... enough for a tennis racket or not.
1) whether she has saved 2) what she would save
3) if she had saved 4) how she saved
103-The African country would be diplomatically isolated on that issue ... a compromise could be
reached.
1) besides 2) unless
3) instead 4) despite
104-You should be aware of the fact that deciding on which career you wish ... a critical moment in
your life.
1) to pursue is 2) is pursing
3) is to pursue 4) are pursuing
105-The Mexican president said that all future violations of their airspace ... in serious consequences.
1) have resulted 2) had resulted
3) will result 4) would result

106-After losing forty pounds, David decided to dispose of all the clothes that reminded him ... his old
size. He never wanted to see them again.

1) for 2) of
3)at 4) about
107- ... its valuable old fabrics, the museum keeps them away from bright light and extreme
temperatures.
1) To preserve 2) Preserving
3) In order to preserving 4) Preserve

108-In the book “The Long Winter”, the author tells about a time ... scarce that she and her family
lived on little more than bread for weeks.
1) when food was such 2) where food was so
3) when food was so 4) where food was such
109-The owners of the old car are trying to decide if they will restore it with new parts and a lot of
bodywork, or dispose of it by ... .
1) give away it 2) give it away
3) giving away it 4) giving it away
110-In the 1800s, it ... very difficult to communicate with people who lived far away. Today we are all
lucky to have phones and good mail service.
1) could be 2) must have been
3) must be 4) could have been

Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

111-Sleeping pills can ... with the effect of other medications and might be dangerous when combined

with them.
1) interfere 2) replace
3) compare 4) fill

112-Kylian Mbappé will not be forgotten because he is a/an ... to everyone in the club, and we hope he
can continue his tremendous work in the future.
1) alternative 2) attention
3) hint 4) inspiration
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113-The main point is that students are often ... whether they are taking the right kind of notes to
succeed in passing college exams.
1) ashamed 2) meaningful
3) uncertain 4) strange
114-Sunlight coming through a nearby window or the sound of an early morning garbage truck can ...
a light sleeper like me.

1) disturb 2) introduce
3) apply 4) discard
115-1 was totally confused, so I decided to read the note a moment longer, giving myself a chance to ...
something.
1) take care of 2) jump out of
3) take away from 4) come up with

116-1t’s ... to recline your seat during short daytime flights. When traveling by plane, always stay
within your own space and don’t monopolize the armrest.
1) generous 2) hospitable
3) selfish 4) intermediate
117-Passengers should always offer to ... their seats to any individual who is pregnant, elderly or
clearly in need.
1) work out 2) check in
3) stand for 4) give up
118-Is it rude to start eating at the table before everyone else has been served? The answer is yes, unless
the host or hostess gives their ... for people to start.
1) permission 2) heritage
3) strength 4) pressure
119-One inappropriate thing she does is that whenever she comes over for a meal, she ... my cooking.
I’m not a professional, obviously, but I think I’m a pretty good cook.
1) respects 2) criticizes
3) expects 4) identifies
120-My nephew is 8 years old and his parents don’t set any rules for him, so he is really rude. I’ve ...
the point where I’d almost prefer it if they didn’t come over.

1) suggested 2) claimed
3) reached 4) diverged
121-On this particular day, taxis passing by us are usually either filled with passengers or ... to take us.
1) unknown 2) unfamiliar
3) unwise 4) unwilling

122-The most common type of kidney stone occurs when oxalate—a ... found in foods such as spinach
and French fries— builds up in urine.
1) compound 2) reference
3) condition 4) demand
123-1 usually avoid junk food, particularly soda, and other foods that ... to high blood sugar and
insulin resistance.
1) convert 2) lead
3) absorb 4) range
124-Psychologists believe when students store information visually, as opposed to linguistically, they
can ... it much better.

1) exist 2) prevent
3) recall 4) reply
125-As you probably know, the Earth turns through one complete revolution ... every twenty-four hours.
1) accidentally 2) especially
3) increasingly 4) approximately

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.
126-
1) In spite of confronting her marital problem, she kept her busy working on trivial tasks.
2) Instead of confronting her marital problem, she kept herself busy work on trivial tasks.
3) In spite of confronting her marital problems, she kept her busy work on trivial tasks.
4) Instead of confronting her marital problems, she kept herself busy working on trivial tasks.
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127-
1) They are no shortcuts to a full experienced life; humans can continually try hard to explore, develop, so
achieve.
2) They are not shortcuts to a fully experienced life; humans can continually try hardly to explore,
develop, and achieve.
3) There are not shortcuts to a full experienced life; humans must continually try hardly to explore,
develop, so achieve.
4) There are no shortcuts to a fully experienced life; humans must continually try hard to explore,
develop, and achieve.
128-
1) I was surprised of discovering which some people are born with a greater capacity to happiness than others.
2) I was surprised of discovering that some people are born with a great capacity to happiness than others.
3) I was surprised to discover that some people are born with a greater capacity for happiness than others.
4) I was surprised to discover which some people are born with a great capacity for happiness than others.
129-
1) For some people, anger is a noisy explosion of feelings resulting from the buildup of unfulfilled desires
and expectations.
2) A noisy explosion of feelings result from the buildup of unfulfilled desires and expectations for some
people called anger.
3) The buildup of unfulfilled desires and expectations and a noisy explosion of feelings which they result
from anger for some people.
4) Anger, which is a noisy explosion of feelings, it results from a buildup of unfulfilled desires and
expectations for some people.
130-
1) At the end of a long day, people commonly find it too difficult to organize themselves to do more
demanding activities.
2) People commonly find it too difficult to organize themselves do more demanded activities in the end of
a long day.
3) Commonly find it too difficult people to organize themselves do more demanding activities in the end
of a long day.
4) Organizing themselves to do more demanded activities at the end of a long day and people commonly
find it too difficult to do.
Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.
A: I see you’re reading “Let’s Speak Chinese”. Boning up on your Chinese for the trip?
B:...(131)...!
A: Somebody woke up on the wrong side of the bed!
B: ’m still ...(132)... . You shouldn’t have tried to read my personal messages!
A: Well, I hope we can clear the air. Otherwise, it’s going to be a long week!
B: Okay, ...(133)... . What were you doing with my phone when I was in the kitchen?

131- 1) Keep your shirt on 2) Keep your nose out of my business
3) Keep your chin up 4) Keep it in mind

132- 1) ticked off 2) from Missouri
3) flat broke 4) snowed under

133- 1) speak your mind 2) get off my back
3) say the word 4) come clean

A: My husband has a rash on his back. It’s driving him nuts.

B: When did the rash ...(134)... ?

A: Yesterday morning. What do you think it could be?

B: It could be any number of things. For starters, it could be an allergic reaction to something.
A: Oh, you may have ...(135)...! I recently started using a new brand of laundry detergent.

134- 1) break out 2) brighten up
3) turn in 4) set off
135- 1) poured oil on troubled waters 2) let the cat out of the bag
3) hit the nail on the head 4) thrown me in at the deep end

A: One moment, I’'ll ...(136)... . I’m sorry her line ...(137)... . Can you wait?
B: No, thanks. I’ll call back later.

136- 1) drop a line 2) get tied up
3) make a call 4) put you through
137- 1) is engaged 2) keeps ringing

3) is out of touch 4) keeps me waiting




=

$ diio b3 1 yasio olais NIYER AR |

A: Those poor refugees escaped the famine but ended up in a war zone.
B: That’s too bad! It is like ...(138)... .

138- 1) putting the cart before the horse 2) bringing home the bacon
3) going out of a frying pan into the fire 4) making a mountain out of a molehill
A:1...(139)... Mary in town last week. We arranged to meet for dinner last night, but she didn’t
...(140)... .
B: That’s too bad.
139- 1) took after 2) looked forward to
3) ran out of 4) came across
140- 1) show up 2) show off
3) hang on 4) hang up

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

“How can I change my life?” If you’re asking this question, ...(141)... that the one constant thing in
our life is change. The more we resist it, ...(142)... . Instead of avoiding it, ask how you can change
your life to work with the changes happening around you. We are ...(143)... by change, and it is the
one thing that has the most dramatic impact on our lives. There is no avoiding it because it will find
you, challenge you, ...(144)... you to reconsider how you live your life.

Change can come into our lives as a/an ...(145)... of a crisis, choice, or chance. In any situation,
we are all faced with having to make a choice about making the change or not. We cannot avoid
...(146)... events in our lives. What we can control is how we choose to respond ...(147)... them. It is
our power of choice that enables us to activate positive change in our lives. Acting on our power of
choice ...(148)... us with more opportunities to change our lives for the better. If we create more
opportunities to change our lives, our lives ...(149)... more fulfilled and happier.

There are specific things that you can do to change your life. For example, spend some time
...(150)... to sort out what is important in your life. What is it that you want to ...(151)... in your
life? What are your dreams? ...(152)... you happy? Your meaning in life gives you purpose and sets
the direction of how you want to live your life. ...(153)... meaning, you will spend the rest of your life
wandering aimlessly. If you’re not sure ...(154)... to begin your search for meaning and your inner
drive, you can try some online classes which will help you to ...(155)... it out in a 20-minute session.

141- 1) and remember 2) remembering

3) remember 4) it remembers
142- 1) our life becomes tougher 2) the tougher our life becomes

3) it becomes a tougher life 4) which becomes our life tougher
143- 1) consumed 2) surrounded 3) elicited 4) compiled
144- 1) and force 2) it forces 3) forcing 4) force
145- 1) result 2) access 3) treasure 4) emphasis
146- 1) familiar 2) remote 3) domestic 4) sudden
147- 1) with 2) to 3)in 4) for
148- 1) is provided 2) to provide 3) provides 4) have provided
149- 1) will become 2) would become 3) had become 4) became
150- 1) try 2) trying 3) to try 4) tries
151- 1) burst 2) deserve 3) belong 4) achieve
152- 1) What does it make 2) It is what makes

3) What makes 4) What it makes
153- 1) Without 2) Instead 3) Despite 4) Besides
154- 1) whose 2) which 3) that 4) where
155- 1) cross 2) hang 3) figure 4) watch

Part F: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
guestions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1.

In Death Valley, California, one of the hottest, driest places in North America, there is much salt,
and salt can damage rocks impressively. Inhabitants of areas elsewhere, where streets and highways
are salted to control ice, are familiar with the resulting rust and deterioration on cars. That proves
the chemically corrosive nature of salt, but it is not the way salt destroys rocks. Salt breaks rocks
apart principally by a process called crystal prying and wedging. This happens not by soaking the
rocks in salt water, but by moistening their bottoms with salt water. Such conditions exist in many
areas along the eastern edge of central Death Valley. There, salty water rises from the groundwater
table by capillary action through tiny spaces in sediment until it reaches the surface.
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Most stones have tube passages that suck salt water from the wet ground. Death Valley provides
an ultra-dry atmosphere and high daily temperatures, which promote evaporation and the formation
of salt crystals along the cracks or other openings within stones. These crystals grow as long as salt
water is available. Like tree roots breaking up a sidewalk, the growing crystals exert pressure on the
rock and eventually pry the rock apart along planes of weakness. Besides crystal growth, the
expansion of halite crystals (the same as regular table salt) by heating and of sulfates and similar
salts by hydration can lead to additional stresses. A rock strong enough to have resisted natural
conditions for a very long time in other areas could probably be broken apart into small pieces by
salt weathering within a few generations.

The most common salt in Death Valley is halite, or sodium chloride, but other salts, mostly
carbonates and sulfates, also cause prying and wedging, as does ordinary ice. Weathering by a
variety of salts, though often subtle, is a worldwide phenomenon. Not limited to dry regions, intense
salt weathering occurs mostly in salt-rich places like the seashore, near the large saline lakes in the
Dry Valleys of Antarctica, and in desert sections of Australia, New Zealand, and central Asia.

156-What is the passage mainly about?

1) The destructive effects of salt on rocks

2) The impressive salt rocks in Death Valley

3) The amount of salt produced in Death Valley

4) The damaging effects of salt on roads and highways
157-The pronoun “it” in paragraph 1 refers to ... .

1) capillary action 2) groundwater table

3) salty water 4) sediment
158-The word “exert” in paragraph 2 is closest in meaning to ... .

1) put 2) reduce

3) forgive 4) control

159-Why does the author compare tree roots with growing salt crystals?
1) They both grow as long as water is available.
2) They both force hard surfaces to crack.
3) They both react quickly to a rise in temperature.
4) They both cause salty water to rise from the groundwater table.
160-The author mentions the underlined part in paragraph 2 in order to ... .
1) present an alternative theory about crystal growth
2) explain how some rocks are not affected by salt
3) simplify the explanation of crystal prying and wedging
4) introduce additional means by which crystals destroy rocks
161-According to the passage, which of the following is true about the effects of salts on rocks?
1) Only two types of salts cause prying and wedging.
2) Salts usually cause damage only in combination with ice.
3) A variety of salts in all kinds of environments can cause weathering.
4) Salt damage at the seashore is more severe than salt damage in Death Valley.
162-Which of the following can be inferred from the passage about rocks that are found in areas where
ice is common?
1) They are protected from weathering.
2) They do not allow capillary action of water.
3) They show similar kinds of damage as rocks in Death Valley.
4) They contain more carbonates than sulfates.
PASSAGE 2:
The earliest discovered traces of art are beads and carvings, and then paintings from sites dating
back to the Upper Paleolithic period. We might expect that early artistic efforts would be crude, but
the cave paintings of Spain and southern France show a marked degree of skill. So do the naturalistic
paintings on slabs of stone excavated in southern Africa. Some of those slabs appear to have been
painted as much as 28,000 years ago, which suggests that painting in Africa is as old as painting in
Europe. But painting may be even older than that. The early Australians may have painted on the
walls of rock shelters and cliff faces at least 30,000 years ago, and maybe as much as 60,000 years
ago.



=

N dxio olgj’l,am@aba:él ala 3 YV (yge5]

The researchers Peter Ucko and Andree Rosenfeld identified three principal locations of paintings
in the caves of western Europe: in obviously inhabited rock shelters and cave entrances; in galleries
immediately off the inhabited areas of caves; and in the inner reaches of caves, whose difficulty of
access has been interpreted by some as a sign that magical-religious activities were performed there.

The subjects of the paintings are mostly animals. The paintings rest on bare walls, with no
backdrops or environmental trappings. Perhaps, like many contemporary people, Upper Paleolithic
men and women believed that the drawing of a human image could cause death or injury, and if that
were indeed their belief, it might explain why human figures are rarely depicted in cave art. Another
explanation for the focus on animals might be that these people sought to improve their luck at
hunting. This theory is suggested by evidence of chips in the painted figures, perhaps made by spears
thrown at the drawings. But if improving their hunting luck was the chief motivation for the
paintings, it is difficult to explain why only a few show signs of having been speared. Therefore, if the
paintings were connected with hunting, some other explanation is needed. Perhaps the paintings
were inspired by the need to increase the supply of animals. Cave art seems to have reached a peak
toward the end of the Upper Paleolithic period when the herds of game were decreasing.

163-What does the passage mainly discuss?
1) Cave art in Europe
2) Subjects of ancient cave paintings
3) The Upper Paleolithic period
4) The principal locations of cave art
164-The passage supports which of the following statements about painting in Europe?
1) It is much older than painting in Australia.
2) It is as much as 28,000 years old.
3) It is not as old as painting in southern Africa.
4) It is much more than 30,000 years old.
165-The word “marked” in paragraph 1 is closest in meaning to ... .
1) considerable 2) surprising 3) limited 4) adequate
166-According to the passage, what makes some researchers think that certain cave paintings were
connected with magical-religious activities?
1) The paintings were located where many people could easily see them, allowing groups of people to
participate in the magical-religious activities.
2) Upper Paleolithic people shared similar beliefs with contemporary people who use paintings of animals
in their magical-religious rituals.
3) Evidence of magical-religious activities has been found in galleries immediately off the inhabited areas
of caves.
4) The paintings were found in hard-to-reach places away from the inhabited parts of the cave.
167-What might explain why human figures are rarely depicted in cave art?
1) People’s inability to draw every single detail of a human body
2) The belief that the drawing of a human image could cause death or injury
3) The low quality of materials used to draw images on the walls
4) Certain beliefs which regarded drawing a human image as socially inappropriate
168-What does the word “their” in paragraph 3 refer to?
1) caves 2) people
3) animals 4) paintings
169-According to the passage, scholars explained chips in the painted figures of animals by proposing
that ... .
1) Upper Paleolithic artists used marks to record the animals they had seen
2) the paintings were inspired by the need to increase the supply of animals for hunting
3) the artists had removed rough spots on the cave walls
4) Upper Paleolithic people used the paintings to increase their luck at hunting
170-Why does the author mention that Upper Paleolithic cave art seemed to have “reached a peak
toward the end of the Upper Paleolithic period, when the herds of game were decreasing” in

paragraph 3?

1) To argue that Upper Paleolithic art ceased to include animals when herds of game became scarce

2) To provide support for the idea that the aim of the paintings was to increase the supply of animals for hunting

3) To emphasize the continued improvement in the quality of cave art throughout the Upper Paleolithic period

4) To show the direct connection between the decrease in herds of game and the end of the Upper
Paleolithic period
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